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HEFRITIUf fder : Important Instructions:

l. ye7-u3 g e # fAder afed 32.9% g Td 1. The Question Paper Booklet contains 32 pages
SIH 200 YOI 1 9 200 db b PHH H BU T including instructions of the Question Paper.
U9 U9 b JAd WUS AdF UG § H 50 I In all there are 200 Questions from 1 to 200
Tl Evs T & T 9 & Oy ysq |- 151 divided in.to A,B,C. & D Sectiops, of wh.ich
J 170 3ol & & o wft & fow arfyard ¥ each Section contains 50 Questions. Section
R e 71 9 a0 a6 B ot || (D e e P, It Ssion Questin
3 2T A il & hid Eﬁ[ﬁ Shel all. For Question Nos. 171-200 candidate has
; | ¥ 93 qﬁg 2Ry ?;I ; to select either Sanskrit or Hindi. Any

- X ONIET TR 15 qae complaint regarding the booklet will be
_E’p_r IclﬂN. BT ST | o entertained within 15 minutes from the

2. G¥Hd H YA AR ATl W T H WEHd B commencement of the Test.

B TIT DY | G¥pd g wHr= (Both) <l 2.  Candidate seeking admission in Sanskrit has

BT Ueb 1T TIF B dTel W G¥hd favg @1 to opt Sanskrit in section D. The candidate

A =TT BV who has applied for BOTH Sanskrit and
General also has to opt Sanskrit only.

3. A4 ﬁm . (OMR.) & drs 3. Follow the Instructions given at the back of
Rl T Frdelt o1 arer :

hal . ! ] ) O.M.R. answer sheet for filling the answers.

4. wenefl g9 g U gRAPT b1 pHIB Td 4.  The candidate should fill the serial no. and
IR SR =@ (O.MLR.) # faiRa wm series of this Question Paper Booklet in the
W MG W | AT SHBT e uRumH OMR Answer Sheet at the proper place,
g 2f 8 9eu, e forw a8 wd otherwise it will not be possible to declare the
SRR BN | result and the responsibility for the same will

be of the candidate.
e :

1. & e srfrard & NOTE:

) ) ) 1. All the questions are compulsory.

2.9M &, 9, 7 Eﬁquaa.3 A @ fore 3 @ 2 Each questions carries 3 marks in section A, B
IREIES %\ AT HIT X H ST NEECINICHE T & D and marks for section C will be 3,2,1 and
@ HH H 32,1 AT 0 3D B | 0 in the preference order.

3. TPRIHD b T8l BT | 3. No Negative Marking will be done.
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° LA

10.

Part-A/A9T7—31
MENTAL ABILITY/ ar=Rie aivadr

If 15 January 2004 was a Sunday then what was the day of 15 January 2003 -

(A) Monday (B) Saturday (C) Friday (D) Tuesday
IfE 15 START 2004 BT fAAR AT AT 15 ST 2003 DT T IR BHTT?
(A) MR (B) wfaR (C) YhaR (D) HTAAR

Directions (Q. No. 02 - 04):

In the following questions, three of the four are alike and so form a group, which is the one
that does not belong to that group?

fader - 0.4, 02 — 04):

Fe=Tifha el #, 9 H 9 IR U 919 © 8RR SHIfelv Ush 9 99 © | B9l & Sl 998
BT el 87

(A) Parrot (B) Koel (C) Vulture (D) Swan

(A) drar (B) ®IIw © frg (D) &4

(A) Haryana (B) Gujarat (C) Kerala (D) Maharashtra
(A) ERamT (B) ORI (C) & (D) WERTY
(A) Potato (B) Coriander (C) Ginger (D) Onion

(A) 3T (B) gfrar (C) IRF (D) T

Directions (Q. No. 05 - 08):

In the following questions, choose the odd numeral pair.
fader - 0.4, 05 — 08):

Fe=Tifha oAl #, il & fawa g™ &1 faffed sy |

(A) 140-45 (B) 110-35 (C) 100-30 (D) 80-25
(A) 133-98 (B) 150-115 (C) 182-40 (D) 188-153
(A) 12:96 (B) 13:117 (C) 15:120 (D) 16:128
(A) 15-46 (B) 12-37 (C) 9-28 (D) 8-33
College is related to student in the same way as Hospital is related to............ ?
(A) Doctor (B) Nurse (C) Treatment (D) Patient
AeTfdenery & fqemefl & a1 &1 ey 8 S SRUdTd Bl oo H 77

(A) Sfdex (B) - (C) sl (D) XM
Signal : Traffic :: ?: ?

(A) Dam : River (B) Lens: Light

(C) Door : House (D) Operation : Doctor

et - Sfthep = 2 ¢ ?

(A) dfg : T (B) i : UabTe

(C) TXAWNT : HHM (D) SifNeE : Sfaex
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11.

12.

13.

14.

15.

16.

17.

18.

19.

MXxN:13x14::FxR:?

(A) 7x19 (B) 5x17 (C) 14x 15 (D) 5x18
BUCKET : ACTVBDJLDFSU : : BONUS : ?

(A) ACMNMOTVRT (B) SUNOB

(C) ACNPMOTVRT (D) ACMNMOTURT

If in a certain language A is coded as 1, B is coded as 2 and so on, how is BIDDIC coded?
(A) 294493 (B) 284563 (C) 375582 (D) 394492

e o M § A ST Hg 1 8, B &1 e 2 ¥ iR T Y T4 € g, o BIDDIC & Jc
FT BITT?

(A) 294493 (B) 284563 (C) 375582 (D) 394492

If A is to the south of B and C is to the east of B, in which direction is A with respect to C?

(A) North—-East (B) North —West (C) South—East (D) South— West

T AB S IRTHZTARC,B D qd H e dl A, C & Hag H by faem # &7

(A) ITR-Jd (B) SWR-uf=H  (C) TEw—yg (D) <ferr—uf¥TH

One evening before sunset two friends Rakesh and Rahim were talking to each other face to
face. If Rahim’s shadow was exactly to his right side, which direction was Rakesh facing?

(A) North (B) South (C) West (D) Data inadequate

T M BT GART H gl & IR b AR &M AF—AHAT b TR ¥ a1 R B o |
e YEM P IRBTS Uhad I e AR off d el b fazm & A o

(A) SR (B) féror (C) uf¥=H (D) AT U
5,7,10,15,22, .coo......

(A) 31 (B) 32 (C) 34 (D) 35

703, 655, 607, 559, 511,463, ...........

(A) 413 (B) 414 (C) 415 (D) 416

A father is, at present, three times as old as his son. Five years back, he was four times as old
as his son. Find the age of his son -

(A) 12 years (B) 15 years (C) 18 years (D) 20 years

g U, a9 |, oue g ¥ A9 o7 99 & | U 99 qd 9 U §F ¥ R M 93 I |
T3 B g FT 2?

(A) 12 @9 (B) 15 99 (C) 18 a¥ (D) 20 ¥
If5x9=144;7x8=151;4x6=102,then2X5=......... ?

(A) 77 (B) 97 (C) 107 (D) 73
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20.

21.

22,

23.

Directions (Q. No. 20 - 23):

The figure given below consists of three intersecting circles which represent sets of students
who play Tennis, Badminton and Volley Ball. Each region in the figure is represented by a
small letter. On the basis of the figure, answer the questions given below.

P Q
TENNIS —— BADMINTION
(o) (
VOLLEY BALL
CIGIEIE)

fader - (04, 20 — 23) :

HW A TG ARG H A e g 8, o fdenfial & w@gel @ s exar & o
S, dsfimed iR diclidier Werd 2| afgfa ¥ QU U U &3 Bl Uh BIcl &R Iadrdl
2| 3MEIT & IR WR 9 AT 7Y YAl & IR o1 |

Which letter represents the set of students who play all the three games?

(A) b (B) ¢ ©) f D) g
DT e A= & IH WHE B qWAT & Sl Al Wl Feld oo
(A) b (B) ¢ ©) f D) ¢

Which letter represents the set of students who play Tennis and VolleyBall but not
Badminton?

(A) g B) e © ¢ (D) b

DAl e el & I9 AE BT AN & O <9 &R dfelidid Wold § IR dsied
BEIl

(A) g (B) e © ¢ (D) b

Which letter represents the set of students who play Tennis but neither Badminton nor Volley
Ball?

(A) a (B) b © ¢ (D) d

DT eR el & 99 |WYE bl qUiAr @ Sl SN Weld 8 R AT df defied iR AT
ECISICIS G

(A) a (B) b © ¢ (D) d

Which letter represents the set of students who play Tennis and Badminton but not Volley
Ball?

(A) b B) ¢ © d (D) f

DAl eR el & IH AE BT AT & O <9 &R dsfied Weld & WX dfdtidare
BEIl

(A) b (B) ¢ € d (D) f
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24.

25.

26.

27.

28.

29.

Directions (Q. No. 24 - 26):

In a school, there were five teachers. A and B were teaching Hindi and English. C and B were
teaching English and Geography. D and A were teaching Mathematics and Hindi. E and B
were teaching History and French.

fader : ¥, 24 — 26) :

U faermer § diE e 9 A 3R B BT 3R UGl Ugl %8 9| C 3fR B IS 3R et
Uel X8 | D 3R A O 3R &<l uer k@ 9| ESiR B gfcrer 3R wa uer @ o |

Who among the teachers were teaching maximum number of subjects?

(A) A (B) B ) C (D) D

Rierept 3§ ¥ STftimad favd B9 e I3 97

(A) A (B) B ) C (D) D

Which of the following pairs was teaching both Geography and Hindi?

(A) AandB (B) BandC (C) Cand A (D) None of these

= § 9 S e iR = S uer @ O?
(A) A 3R B (B) B3R C (C) C3R A (D) 398 W ®ls I

More than two teachers were teaching which subject?

(A) History (B) Hindi (C) French (D) Geography
31 9 ffde Rrie s vy ugr ' 97
(A) sfierd B) & (C) wa (D) Il

Directions (Q. No. 27 - 28):

Arrange the given words in a meaningful sequence and identify the most appropriate sequence
from amongst the alternatives.

fader - (0¥, 27 — 28) :

faU g el @ U Adyel B H SIS SR fQu U f[Adeni H ¥ Hallde Iuged HH bl
g oIy |

(1) Appendix (i1) Contents (111) Title

(iv) Chapters (v) Introduction

(A) i, i, v,1,iv. (B) i, i, iv,v,i (C) v, i iv, i, 11 (D) i, i, v, iv, 1

i) TRAME (i)  STIHHOTHRT (i) Md®

(iv) S (v) uR=™

(A) iii, i, v,i,iv. (B) i, i, iv,v,i (C) v, i, iv, i, i (D) i, ii, v, iv, 1

(1) Punishment (i1)  Prison (111)  Arrest

(iv) Crime (v) Judgement

(A) v,i,1, 11, iv (B) iv,1iil, v, i, 1 (C) iv,ii, v,i,11 (D) ii,1i,1,1v, v
() oI (i) < (i) FREWR

(iv) STIRTe (v) faoig

(A) v,i,ii, 11, iv (B) v, iil, v, i, 1 (C) iv,iii, v,i,i1 (D) ii,1id, 1, 1v, v
How many times in a day, the two hands of a clock are at 90°?

(A) 4 B) 12 (C) 22 (D) 44

U foT # fHa aR, o< & T 81 90° W BN 27

(A) 4 B) 12 (C) 22 (D) 44
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30.

31.

32.

33.

Directions (Q. No. 30 - 33):

In each of the following questions, two statements 1 and 2 are followed by two conclusions 1
and 2. Read the conclusions and then decide which of the given conclusions logically follows
from the two given statements.

(A) If only Conclusion 1 follows (B) If only Conclusion 2 follows

(C) If either Conclusion 1 or 2 follows (D) If neither Conclusion 1 or 2 follows

fader - (04, 30 — 33) :

A AU U U U H, FHUF 1 SR 2 b 918 BN 1 @R 2 § | rhul @1 ufeu ek
fAoig <o f s frad fg 717 <1 FoFl & SR R TaaTd 2 |

(A) Ife dad fspy 1 T2 B (B) Ife Pad f=py 2 WL 8
(C) ufe frepd 1 a1 2 ST ° (D) Ife fepd 1 &R 2 T Tad B
Statements : 1. All fans are watches.

2. Some watches are black.
Conclusions: 1.  All watches are fans.

2. Some fans are black.
HU 1. ft v, afedt €

2. $© gfsal Frell &
forsepe 1. 9 ufedl U g |

2. TP UW HTA T |
Statements : 1. All grasses are trees.

2. No tree is shrub.
Conclusions: 1.  No grasses are shrubs.

2. Some shrubs are grasses.
FHUT 1. |9 99 99 § |

2. BIS g& QI Tl 2 |
fspy 1. PIs 979 ST 781 ¢ |

2. q{B HAISA 919 8 |
Statements : 1.  Some boys are thieves.

2. Some students are boys.
Conclusions: 1.  Some boys are dacoits.

2. All dacoits are boys.
HA 1. o ded IR B

2. G© deo faemif g
forsepey 1. G Sa dSD ¢ |

2. 9l T@ ASD B
Statements : I.  No man is a donkey.

2. Rahul is a man.
Conclusions: 1. Rahul is not a donkey.

2. All men are not Rahul.
HA 1. DS W 3TSH T T 2 |

2. Igd 3meH B
frepy - 1. I8 T T8I © |

2. |V 3EH g TTE 7|
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Directions (Q. No. 34 to 36):
In each of the following questions, a set of figure carrying certain characters is given. Assuming
that the characters in each set follow a similar pattern, find the missing character in each question.

fader (ud. 34 4 36)
I A W IR T A URd aMgfa W fAf il T AE & | U8 Hoeddl S [ add
e il MiRed Ued 9 9 R81 & S &l &9 H gd g Ud U $I BeT B3Nl 3id Sild

BIFSTT |
34.
4 7
5 1 64 3
11
(A) 0 (B) 8 (C) 125 (D) 216
3s.
5 6 6 7 4 8
4 5 10
(A) 14 B) 22 (C) 32 (D) 320
36. (2)
O ©
W
(A) 123 (B) 124 (C) 122 (D) 112
37. There are five different houses A to E in a row. A is to the right of B and E is to the left of C

and right of A. B is to the right of D. Which of the houses is in the middle?
(A) A (B) B € C (D) D
ure fafr=1 7T A 9 E 6l vop dfdd # €1 A, B & T 8 IR E, C & a4 21 A &

TR €1 B,D @ T B | AT AHE T H 87
(A) A (B) B C) C D) D
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38.

39.

40.

41.

42.

In an examination Raj got more marks than Mukesh but not as many as Priya, Priya got more
marks than Gaurav and Kavita. Gaurav got less marks than Mukesh but his marks are not the
lowest in the group. Who is second in the descending order of marks?

(A) Priya (B) Kavita (C) Raj (D) Mukesh

Bl oRlerr ¥ 51 7 gl W SATET 3 9w A Wfh I el e O |, O3 7 ke
3R DI | ST 3 U b | TRT 7 G« A DA b UK (b WAfb SqD b g
H e HH TR 2| 3Dl BT e § Hed HH H M TR B GEN I IR MU |

(A) foar (B) ®faam © = (D) g&hd

Looking at a portrait of man, Harsh said, “His mother is the wife of my father’s son. I have no
brother and sister”. At whose portrait was Harsh looking?

(A) His son (B) His Cousin

(C) His Uncle (D) His nephew

TP eHl & I3 BT IR IET Y BY o BBl IHD! AT W U & GF B ufT 71 W
Bl A1g T g8 78l 2 |” By fbds &5 &1 3R <9 <& o1

(A) SED IF DI (B) S TR WS Bl

(C) S d Tl Bl (D) S T Bl

By selling an article for ¥ 110, a man loses 12%. For how much should he sell it to gain 8%?
(A) %120 (B) %125 (C) R 135 (D) 140

fpRf) a%g DI 110 IH T& UR 12% B B Blil & | 89 I UR 8% T oY o1 & g S
b vud H d= Sg?

(A) X120 (B) %125 (C) R 135 (D) 140

The price of an article has been reduced by 25%. In order to restore the original price, the new
price must be increased by how much percent?

(A) 12% (B) 33%% (C) 25% (D) 30%

Pl a%] &1 Hog 25% O WAl & | 39 T oI H fobaq ufaerd &1 gig @1 oy 6 9

qed U 81 SIY?

(A) 12% (B) 33%% (C) 25% (D) 30%

If EAT is written as 22 26 7, how will you write LIP?

(A) 151416 (B) 141710 C©) 91211 (D) 151811
IfE EAT &1 22 26 7 foRaT S AT LIP &1 ¥ folar SIrgar?

(A) 151416 (B) 141710 C©) 91211 (D) 151811
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43.

44.

45.

46.

47.

48.

49.

50.

Mohan is 4 times as old as Shyam. If the difference of their age is 9 years, how old is Mohan?
(A) 15 years (B) 12 years (C) 14 years (D) 9 years

HAIET B MY M ¥ IR AT & | AT T B 3R T <R 9 a¥ & o AreA fhas ay &7
g?

(A) 15 99 (B) 12 a¥ (C) 14 9§ (D) 9 Iy

Directions (Q. No. 44 to 48):

Identify the logic between first two terms of left side portion of sign :: in following questions
and apply same logic on Right side portion of sign :: and find correct alternatives for each
question.

fader (. 9. 44 9 48) :

A e T geAl H S (2) @ 9% OR% QM UG & He A bl Usdl-id g8l dob D
ge H g (x) & SR IRS drel QM1 UGl R AN R TS U & oY F81 [ddeq &1 a9
PIRTY |

ACE : ZXY :: FHJ :

(A) SOQ (B) USP (C) TRP (D) USQ
BYW :DWU :: FUS :

(A) HSQ (B) EST (C) GST (D) ESQ
MORE : NNSD::CRAW:

(A) DQAV (B) DAPQ (C) DQBV (D) GQAL
MONKEY : XDJMNL :: TIGER :

(A) QDFHS (B) SDFHS (C) SHFDQ (D) UJHFS

CIGARETTE : GICERAETT :: DIRECTION :
(A) RIDTCENOI (B) NORTECDII (C) NOIETCRID (D) IRDCTIONE

If air is called green, green is called blue, blue is called sky, sky is called yellow, yellow is
called water and water is called pink, then what is the colour of clear sky?

(A) Blue (B) Sky (C) Yellow (D) Water

HET SV T el /A% DT BT X FAT BIIT?

(A) el (B) <3frprer (C) Yratr (D) U

In a certain code ‘786’ means ‘study very hard’, ‘958 means ‘hard work pays’ and ‘645’
means ‘study and work’. Which is the code for ‘very’?

(A) 8 (B) 6 < 7 (D) 4

frdl e drs # 786" @1 ST I 8BS’ 958" B ‘8IS b UGl AR 645 Bl Tl UUS
g’ Bl Sy Al ‘R’ & oY a1 dre sRm?

(A) 8 (B) 6 < 7 (D) 4
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Part-B/91iT—4
GENERAL AWARENESS RAJASTHAN/GTHTI ST XToT¥ATH

51. River Luni originates from the following district -

(A) Nagaur (B) Ajmer (C) Tonk (D) Churu

ST T BT IeH I, e foTel H 2

(A) IR (B) 3SR (C) <k D) =o
52. Famous Chand Baori is located in the district of-

(A) Kota (B) Bharatpur (C) Alwar (D) Dausa

gRrg dic dael Rerd g, 74 el 4

(A) PIer (B) WRAYR (C) 3R (D) ©r
53. Which city in Rajasthan is called ‘Blue City’?

(A) Udaipur (B) Ajmer (C) Jodhpur (D) Bikaner

ORI H {9 IR B Al AR HET Il 87

(A) STAR (B) 3T (C) SEgR (D) R
54. Garden Bada Bagh is situated at-

(A) Jaisalmer (B) Bhilwara (C) Jhalawar (D) Hanumangarh

e g1 91T Rerd 28—
(A) SR (B) ¥oAdrs (C) Serrdre (D) EFHTe
55. Vijay Singh Pathik, a freedom fighter of Rajasthan, published a newspaper, known as-

(A) Rajasthan Kesri (B) Navin Rajasthan (C) Prabhat (D) Rajasthan Patrika
fasra Rig ufdre, IoRE @ Wa=dl 991, SeM U GHER U3 Fare, St g9 9 |
OITET ST &AT—
(A) ORI AR (B) Fd9 IoRE (C)  9¥Td (D) ISR Uf¥ar
56. Habib Tanvir’s Film Charan Das Chor was written by which Rajasthan writer.
(A) Malchand Tiwari (B) Harish Bhadani
(C) Vijay Dan Detha (D) Arjun Deo Charan
g4l IR ®I fhed TRAeNT R oRAE & ogd gRT fordy 87
(A) Hrem@e faary (B) B HIGH!
(C) fasa g™ <o (D) 3G T AR
57. Who among the following was awarded Padma Vibhushan from Rajasthan?
(A) Komal Kothari (B) Vijay Shankar Vyas
(C) Natwar Singh (D) Naresh Chandra
oI # e | 9 fe ugA fasmor & e e T —
(A) PIHEA BRI (B) faoma iR =™
(C) ¥ceR 8 (D) T T=
58. Kamlesh Nagar Koti played for India Under 19 Cricket World Cup in the year -
(A) 2016 (B) 2015 (C) 2018 (D) 2014
FHHAY AR BIfc TR 3R 19 & 439 &9 # Werr &, 77 a¥ # —
(A) 2016 (B) 2015 (C) 2018 (D) 2014
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59. In Arid Desert of Rajasthan, India shares international borders with -

(A) Nepal (B) China (C) Pakistan (D) Afghanistan
RIGIRRIT & b AT H HRT U1 RIS AT AT Rl 7, 91 & arer —
(A) Ut (B) & (C) I (D)  SABITRA
60. North Aravalli Region of Rajasthan include the following district -
(A) Dausa (B) Sirohi (C) Ajmer (D) Tonk
IR IRTEE &5 H o BT = [Selm |ffferd g —
(A) < (B) RRIE (C) 3SR (D) <P
61. Panchayati Raj system in India was inaugurated in Rajasthan at Nagaur in the year —
(A) 1958 (B) 1959 (©) 1957 (D) 1956
GERICH RTSTIaR] 6T ARA IR 4, ASRIM & AFR A by a9 7 gar?
(A) 1958 (B) 1959 (C) 1957 (D) 1956
62. Traditional leader of Meena community is known as -
(A) Patel (B) Bhagat (C) Karma (D) Mukaddam
=T FHTY pT URFRTTT AdT g ATH q ST ST % —
(A) TCd (B) T (ORl (D)

63. National High Way 8, which connects Delhi with Mumbai, passes through Rajasthan. It runs
into how many kilometres in Rajasthan?
(A) 700 (B) 560 (C) 688 (D) 720
TS AT GRAT 8 Sl feetl BT g 9 Siredl © SO 9 [oRdl & | I8 o |

e fohall e &1 27

(A) 700 (B) 560 (C) 688 (D) 720
64. Central University was established in Rajasthan in year —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
RIS H B fdvq faemed o A gs av —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
65. Sahitya Academy, Delhi award for Rajasthani in 2017, was awarded to -
(A) B.L.Vyas (B) Ambika Datt (C) Hetu (D) Neeraj Dalia
qy 2017 BT ANS 3fbTeH!, faoell BT ISR BT REBR by fyelr —
(A) 9. T @™ (B) Sifddr &9 (C) =g (D) RS STferan
66. Banasthali Vidyapeeth was established in the following year —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
el faemdie &1 werraer =1 ay H 835 —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
67. Who was the first Woman Chair Person of Rajasthan Human rights commission?
(A) Kanta Kumari Bhatnagar (B) Prabha Thakur
(C) Narendra Kanwar (D) Usha Meena
RIS HIFATEBR RN DI Uil Aldell fedel Hiv oi?
(A) BT HHART ISR (B) 94T ST
(C) = Har (D) T HoT
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68.

69.

70.

71.

72.

73.

74.

75.

The first Woman Chief Secretary of Rajasthan was -

(A) Meenakshi Hooja (B) Kushal Singh

(C) Otima Bordia (D) Amarjeet Kaur

ISR D1 JoH Higell gy wferg off —

(A) #ITEfl gl (B) purel g

(C) 3nferar aifear (D) 3RS BR

‘Hela Khayal Dangal’ is famous in which district of Rajasthan?

(A) Dausa (B) Jaipur (C) Bikaner (D) Pali
Tl T T’ oI & b 7el 7 ufrg 27

(A) T (B) AR (C) dIHR (D) Tell
‘Pichwai’ art is related to-

(A) Meera bai (B) Ram-Sita (C) Mahadev (D) Shree krishna

freag’ T THfRT -
(A) HREE ¥ (B) W@ ¥ (C) #ekd (D) @1 |

According to 2011 census the lowest density districts in Rajasthan are-

(A) Barmer - Bikaner (B) Jaisalmer - Barmer

(C) Jaisalmer - Bikaner (D) Jaisalmer - Churu

2011 DI SIUET & AR ISR H FAdH o9cd dTel fofel 5—

(A) ISR — dIDHIR (B) SIOTTHR — qISHR

(C) TR — fIpFR (D) SR — T&®

The first wind power plant of Rajasthan was established in-

(A) Amarsagar - Jaisalmer (B) Bithadi - Jodhpur

(C) Devgarh - Pratapgarh (D) Mohangarh - Jaisalmer
ISR BT U2 Ua SHofl G397 ATUd fhar 137 o1—

(A) IRANR — STTTHR (B) dISl — SIEYR

(C) <A — YdIITe (D) HIEATE — IR

‘Bari’ ornament is worn in-

(A) Neck (B) Nose (C) Ears (D)  Wrist
IR’ AT YSAT ST 2—

(A) el ¥ (B) & H (C) &l H (D) oy H
Where did the reign of Maharana Pratap take place?

(A) Chawand (B) Gogunda (C) Udaipur (D) kumbhalgarh
HERIVN Y19 b1 RSifdedd Hal gAT oT?

(A) drde (B) =T (C) SR (D) HRINTS

Name the person who was expelled by Ratan Singh from his court and later he went on
asylum to Alauddin khilji-

(A) Sunder lal (B) Madan lal (C) Raghuji (D) Chetan Raghav

9 AT BT 9 qarsd O IGIRIE o U9 SRaR A bt faar o, dem 9 # 98

JATSE Retoll &1 IR H el AT |
(A) R (B) HEHTS (C) gsit (D) ¥ JTHa
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76.

77.

78.

79.

80.

81.

82.

‘Bhomat’ area in Rajasthan is related with-

(A) Udaipur (B) Banswara (C) Bhilwara (D) Alwar
ORI # AFe &F T &

(A) STIR ¥ (B) ¥iaId (C) Wedsrd (D) IR 9

What was the name of first Rajasthani film?

(A) Nijarano (B) Babasa Ri Ladli

(C) Bai Chali Sasariye (D) Mhari Pyari Chanana
YIH NIRRT {heH &l AH T 217

(A) oM (B) 99T & ATS <l
(C) 915 Fell |y (D) =R "R Il

Who took oath as Chief Minister of Rajasthan maximum number of times?
(A) Mohanlal Sukhadia and Haridev Joshi

(B) Haridev Joshi and Bhairon Singh Shekhawat

(C) Bhairon Singh Shekhawat and Hira Lal Devpura

(D) Shivcharan Mathur and Haridev Joshi

RISRIE & qIHAl & WU H Faigd aR 29 e «fi?

(A) HIEd gEiSA Ud sRag S
(B) &R<g Sl vd {RiE erEmaq
(C) RIRYE WETad Td ERTAT QayR]
(D) fRra=aRor AR vd sRad Srel

Degana region is known for which mineral in Rajasthan?

(A) Manganese (B) Coal (C) Tungsten (D) Iron ore
ST &3 oI § fod Wi @ forg S Sirar 287

(A) TN (B) PIIaT (C) TR+ (D) <IE 3RR®
Who is known as ‘Gandhi of Rajasthan’?

(A) Bhogi Lal Pandya (B) Gokul Bhai Bhatt

(C) Janki Lal (D) Damodar Vyas

ORI & el & ©U # B ST Srar 872

(A) 9Rfl AT gusan (B) TgHa WIs YE

(C) SIHE®T ol (D) THIER N

Where is the only bird hospital of Rajasthan?

(A) Jaipur (B) Ajmer (C) Kota (D) Jodhpur
ISR &7 ThHAE vell fafedrera waf 27

(A) SR (B) 3SR (C) Pler (D) SER
What is ‘Lag — bag’?

(A) Name of bird (B) Tax levied on farmers

(C) Name of cannon (D) Name of elephant of Man Singh
ART — 9FT AT 8°

(A) fafsar &1 9 (B) fHramMi 4R RIMUT *R

(C) dIg BT M (D) HAMRIE & B BT A
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83. Rajasthan in its present shape came into the year-

(A) 1956 (B) 1957 (C) 1958 (D) 1959
RISTRRIT 3 IAAM W@Rd H ST § au—
(A) 1956 (B) 1957 (C) 1958 (D) 1959
84. Word ‘Rajasthan’ was first used by historian known as-
(A) Tod (B) G.N Sharma (C) G.C.Pande (D) Satish Chandra
TTeq TSI’ BT Ygell IR YN, =1 gferer gRT fhar Tar—
(A) Tfs (B) SfIud. wmAf (C) <. ¥ uis (D) T o
85. Kali banga, an old historical site is located in the following district of Rajasthan :
(A) Bikaner (B) Ganganagar (C) Barmer (D) Jodhpur
HTAGIT, ST T UfTETRIS I 8, 98 o & b et § Rerd 28—
(A) DR (B) TR (C) TSR (D) SIEgR
86. The copper culture signs are available in the district of-
(A) Udaipur (B) Kota (C) Bundi (D) Alwar
qE Wi & foreg fha Rrel o Suerer 2—
(A) STIR (B) Ier (C) T (D) 3MAR
87. The seervi, caste is in agriculture, they are found mostly in the district of-
(A) Kota (B) Jaipur (C) Jodhpur (D) Bharatpur
RRdT Sfa et & I$1 2, A AfDie: by el 9 a8 Sl &—
(A) reT (B) TR (C) SR (D) ¥RAR

88. Sisodias of Mewar were regarded as-
(A) Suryavanshi  (B) Chandravanshi (C) Agnivanshi (D) Nagvanshi

Hare & RYAIedne &I 7= dF1 SIar 8—
(A) gIash (B) dsaw (C) fash (D)  AANTEE
89. The first formal grammar of Rajasthani was written by the following -
(A) Jayasimha Siddharaja (B) Udyotan Suri
(C) Bhoja (D) Hemachandra Suri
RTSRATHT BT Ugell / 3MuaRe AThoT ford) 78, 79 & gRI—
(A) T Ryeet Rigerar (B) ST 0
(C) e (D) =
90. Who among the following is a famous singer of the Jaipur Gharana of Music?
(A) Bhim sen Joshi (B) Jasraj (C) GirijaDevi (D) Malikarjun Mansur
T & IR WM & URTE FIAeR S SH S 5—
(A) HaE SRt (B) SRR (C) MRS < (D) AfTdred A=
91. Phad paintings of Rajasthan belong to the following school of paintings-
(A) Jaipur (B) Kota (C) Mewar (D) Bikaner
ISR & B e, fEedar & 59 W 4 Il o
(A) SRR (B) IeT (C) wars (D) PR
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92.

93.

9.

9s.

96.

97.

98.

99.

100.

The Kalbeliya dance is from which district of Rajasthan -

(A) Jodhpur (B) Udaipur (C) Alwar (D) Jaisalmer
BT T IS & e el & 5—

(A) SRR (B) S&IR (C) 3feTer (D) SHTR
Bagaru print is from the following part of Rajasthan -

(A) Jaipur (B) Bharatpur (C) Jhalawar (D) Nagaur
6 B BUTS oA & a1 4 2

(A) SRR (B) ¥WRAR (C) sIrTars (D) HFIR
Bala Qila is located at-

(A) Jalore (B) Sawai Madhopur (C) Alwar (D) Baran
qTetT favelT wal Rerd 82—

(A) SR (B) warg AR (C) 3feTR (D) 4RI
Who is the longest serving Chief Minister of Rajasthan -

(A) Tika Ram Paliwal (B) Vasundhara Raje

(C) Ashok Gehlot (D) Mohanlal Sukhadia

RIS # 99 o §FF d% fhas g ue W &R far g—

(A) SIPRM greirdre (B) aGERT XS

(C) 373 el (D) #ETd gEisal

Daulat Ram Saran was addressed in Rajasthan as-

(A) Mahatma (B) Kisano ka Messiah (C) Babuji (D) Raja
SleTd YT AR BT TSR H Fred {har SIar o7 I8 dedi—

(A) HEIHT (B) f&HamMi &1 7digr  (C)drg i (D) XTSI

Rajasthan Vikas Party was established by-

(A) Brij Mohan Lal Sharma (B) Buta Singh (C) Heera Lal Shastri (D) Chhotu Ram
ORI 6T Uiel @7 RIuAT &1 ofi—

(A) g o @i (B) geT g (C) X1 Tl I (D) BIcI™
Who is the speaker of 14™ Vidhan Sabha in Rajasthan -

(A) Sumitra Singh (B) Ram Niwas Mirdha

(C) Kailash Meghwal (D) Shanti Lal Chaplot

144} SR’ fae™ |91 & 9T B 87

(A) g R (B) <M far faet (C) dotrer #gdrel (D) Infwdelidd Juard

How many periods of rainfall are there in Rajasthan?

(A) 2 B) 1 ©) 3 D) 4

e # g9t &1 qRg fhael IR gar 87

(A) 2 B) 1 <€) 3 D) 4

Indira Gandhi canal was necessitated by-

(A) Rains (B) Winter (C) Water Scarcity (D) Hot summers
SIERT 7Tl TER @ 3MIeIDhar gg—

(A) <=91T 9 (B) <l ¥ (C) UMI & 3Md | (D) 3rued TH A
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Part-C/91T—4
Teaching Aptitude / R1e1o1_31f¥eradn

101. The monitor of the class should be —
(A) The most popular student of the class. (B) The loving student of the teacher.
(C) The most powerful student of the class. (D) The extrovert student of the class.
PHeTT P AICI BT AT —
(A) FETT BT T ATHOT faemed | (B) T3t &1 =Ry faemedt |
(C) HeTT &1 T Ifaaemmett faemeft | (D) FeT &7 afeHdl fqemedi |
102. Teacher can develop moral values in students, because —
(A) Teacher has ability to motivate students.
(B) Teacher is role model for students.

(C) Students have fear for teacher.

(D) Students follow every instruction of teacher.

Rietes B # Afe qedl ®I [AHRaT R Fad &, Hifd —
(A) Rrere o faenfeial o1 aRT &= & evar €|

(B) f3rets faenfefat & forw amasf €

(C) faenferai # fRrre & ufy wa 8T €

(D) faemdt R & e A< &1 g axd 2 |

103. Suppose a gifted student is sitting in the class and gives quick answers to all your questions.

What would you do with regard to your student?

(A) you will ask comparatively difficult questions and persuade him not to become
impatient.

(B) you think that he must give all the answers quickly so you can feel a sign of relief from
your responsibilities.

(C) you will tell him that this is an unhealthy behaviour in the class.

(D) you will ask difficult questions to answer so as to make him realise him that you are
among one of the best teachers.

A NFTT SMUdT HelT § Udh HioITel B3 d9o7 & IR afus I g+ & @Rd STR

AT | T MU BTIF & HaeT § qT BHuAr?

(A) 39 S U A HfSH T Y8BT AR I 3R 7 &M & forg w7 |

(B) 31U FHsII & b I¥ qRA ¥ SR < o1 @1y difch g 3l forweriRal & gaa
Bl | |

(C) MU I Pedl b el H IR FH1 UYad TIER ¢ |

(D) 3y faemedl ¥ e Sifed Ued gut O S9 I8 U9 @ {6 oMU Head 3res
Rretdpt # A 1F £ |
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104. This is believed that female teachers are more suitable for primary level teaching because —
(A) They work patiently and affectionately with children.
(B) They have less opportunity for other professions.
(C) They agree to work on low salary.
(D) There is no need of high qualification for this profession.

Ig AT AT & o Afeen Ree mefie 'R @ R @ forw aifte Suged § aife —
(A) 99 & 91 RYdH IR IR A B B 2 |
(B) 9% U 3T AT & foly HH 7aeR T |
(C) d BH Id9 TR B B B oy AgAd Bl & |
(D) =9 UY & U Soa AT &1 PIs AMaeIHal ol 2 |
105. When you instruct a person to close the door and he strictly follows the instruction, then it
can be concluded that —
(A) You have given an effective instruction.
(B) The message has been received by the receiver.
(C) The message has been well explained by you.
(D) The receiver is ready to accept your order.

ST9 31 fhedY Aafdd BT SRATSN §8 ®RA &1 29 T & IR a8 dels A S &1 ure=
AT & I I8 Fspy Hraprarr S |aar g fb —

(A) 3 T gt e fear 2

(B) <Y UTE! §RT UIa fhdm 1T 3 |

(C) 3= Fe¥ Hell Hifd T fhar g |

(D) TTEY 3MMUD 3MMSI B WHR B B oy TIR B |

106. Communication in classroom depends on —

(A) Teacher’s ability to explain (B) Difficulty level of Subject
(C) Student’s ability (D) Class — room interaction
FHeTT He H FaR PR FRar g —

(A) TreTd & e BT Bl &Hal R (B) fawg &1 HfeAE WR )
(C) faenfefar &1 Irgar «) (D) el Ifd:fhar W

107. A teacher should —
(A) Earn money as much as he can.
(B) Make efforts for educational upliftment of students.
(C) Work for students benefits.
(D) Take care of students.

& RIeTd B HIAT ARG —

(A) AfPBTSS AT H &5 HHT | (B) BEI & &P & & forv o |

(C) Bl & &d & &R | (D) BIET BT G |

108. The reason of highest rate of dropouts in rural areas is —

(A) Irrelevant curriculum (B) Poverty

(C) Eagerness for quick employment (D) Inappropriate interpersonal relations with
teachers

TrIoT &3 H faermed Bred ardl @) 9aifdd R BT RO § —

(A) SRR UTGTshd (B) T4

(C) @RI ISR & o1y Iegapell (D) TRreThl & |TeT Sugd URWRE Hae
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109.

110.

111.

112.

How can a teacher establish warm relationship with his students?
(A) Always laughing with them.

(B) By making suitable distances.

(C) By hearing their difficulties and resolving them.

(D) By making students his friends.

T Rt 310+ B § AR FaY [Hd UHR WIUT R Fhdl 57
(A) BTH 9qd 84l ASId DD |

(B) S99 Sfd g AT |

(C) S9! FAFIRI B G- & d18 IADT e P |

(D) BT Bl UAT 7 91N |

If some poor students want to study in extra time from you, then you —
(A) Ask them to take tuition.

(B) Keep them off.

(C) From time to time meet their difficulties as needed.

(D) Send them to another teacher.

I g i B oMo sifaRad wwa # uer @med €, o1y —

(A) STPHT TIIE o & oIy FHE |

(B) S Treld & |

(C) TaTIHT ATAR FHI FHI TR I BfSASAT Bl YRT BRI |

(D) = & 3 fRrerd & ur A9 |

During the educational journey, a student fights with an old man about the place of seating,
then, what will you do?

(A) will take the side of the student. (B) will explain him to respect elders.

(C) will ignore it (D) will interfere to resolve

2SI & IR 969 DI S8 DI B U BF (Bl g I WS d3dl &, al § —
(A) BT BT eI o[ | (B) SN AHIMSHT & IS5 BT 3MER PN |
(C) S 3FQEl HH | (D) fueM & fou @ |

It is necessary to give details of the student’s progress to the parents so that —

(A) Parents can know the progress of their children.

(B) This gives proper guidance for parents to organize tuition.
(C) This keeps children in fear.

(D) Children can not give wrong information to their parents.
BIEI B WA BT IR AMATADR] DI AT ARID & —

(A) O AT 9T geai B YT S Thd @ |

(B) 39N IfAMEa® & TITE T a1 Ifa Ferrg e 2|
(C) 3O d<ai § SX 97 BT 2 |

(D) 9 JIWMIIDH] BT TAd SITHBRT o] < FAhd |
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113. If you are evaluating, then you will —
(A) provide marks according to the work.
(B) give more marks to those who study tuition from you.
(C) give rich students more marks.
(D) give more marks to weak students.

Ife 3T el R I &, aF MY —
(A) B & AR B 3 Y™ B |
(B) T2 31fI 3fh <31 ST 3MUY <Y Ugd B |
(C) 3R BT Bl 3P b I |
(D) fUos BET &I 3ifde 3fd < |
114. A teacher should use audio visual material, because —
(A) Student’s interest is created in the lesson.
(B) The focus of student’s attention remains in learning.
(C) It helps in realizing knowledge and diversification of text.
(D) All of the above.
T YD DI GeI—3d AFUT BT TIART HRAT AT, Rifdh —
(A) BT @1 g6 § B I8l 2 |
(B) BTHI &1 &9 UeTs H df~ad Il & |
(C) M BT IRAfdd ®Y Y =1 9 Y8 § fAfderar o= & \8rad 8l © |

(D) SWRIGT T |
115. Class—room communication should be —
(A) Teacher—Centered (B) General-Focus
(C) Learner—Centered (D) Test book—Centered
DHeT—He] TR BT AMRY —
(A) TreTd wfad (B) =T dfvad
(C) ©T Bfad (D) UTGUYKID hivad

116. While using ICT with teaching in class —
(A) No teacher will be required
(B) More work load will be there for the teacher
(C) Teacher’s role will be as a facilitator
(D) Teacher’s role will be central
Fer iAo § ICT Ygadd R A —
(A) JGTUh B ATIIHT el X7 |
(B) 31eATUH & folv HRIVR 31frd B ST |
(C) 3D B YHABI FIID & WY H 297 |
(D) TS B YHBT S & ST |
117. The status of teachers in the society should be high because they -
(A) Do great mental work (B) Meet people of the society
(C) Prepare future citizens (D) Do more labour.

THTST § 16Tl &1 WR ST 8FT I8y, dife d —
(A) TS AFRIP BRI B o | (B) U & ANl ¥ fiera 2|
(C) W ARSI BT IR HRA 2 | (D) 31fd® 519 B B |
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118.

119.

120.

121.

122.

For a teacher to make a place in society -

(A) Must stay in political party.

(B) Must fulfill his obligation.

(C) Keeping one self active in the activities of society.
(D) Accumulating more money for becoming influential.

RreTp @1 ST H WIF 99 @ ol —

(A) fodt sofae ardt § Yeer @ity |

(B) 319 <RI &I AT =nfed |

(C) AT &Y TR § 3mue BT |fshy =T arfy |

(D) <iftrp & 1fdip o AT PRSP AU YA DI g1 ATy |

As a teacher, you would like to devote your evening time to what work?

(A) In discussing politics (B) In entertainment work

(C) In other activities to earn money (D) In social work

U JLAIH & w4 H AT O] M BT AT A ST H ST UG B2
(A) TSI @Y ==t dRe | (B) #ARSH & #

(C) o9 uIftd & =T BT § (D) AHIfT® &t #

A successful teacher is one who -

(A) Gives good marks (B) Checks homework regularly

(C) Keeps strict discipline (D) Remains aware about the progress of students
A%hel e a8 8, S —

(A) W e <aT & | (B) fafid Tear <@ 2 |

(C) HOBR I G 2 | (D) BT & Ufd & Uy ol Y& B |

Which of the following criteria would you follow when punishing students -

(A) frequency and seriousness of offence.

(B) equal punishment for all without discrimination.
(C) only the seriousness of offender.

(D) only the frequency of offence.

MY B Bl T8 Td 99 9 § 9 & AUevs &7 urad &ear?
(A) STURTET DI Mg Ta THRAT

(B) a1 f<dl Wewma & 1 &1 999 gvs

(C) Dadl MUREN BT THRAT

(D) @act 3R &I 3MIRT

If a student regularly comes late in school then you will -
(A) Complain to his parents (B) Find out the reasons
(C) Remove student from school (D) Punish the student in front of all students

Ife T BT AR faene™ § fadie & amar g, ar —
(A) S gDl A Rerd & (B) 39 BRI &I Odl i |
(C) ©T &I fdemey 9 e < | (D) O B & A I &fosd BN |
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123. When would you like to take additional responsibility as a teacher?

(A) For new knowledge (B) For praise
(C) For promotion (D) For Co-operation
T & ®U H MY 9 IR ITARGIRIE -l A8 ?
(A) T FE S o (B) 9¥idr & fory
(C) Ul & ford (D) =8I & ford
124. The best way to create awareness is through-
(A) Family (B) Society
(C) Books (D) Companion
IO YT &’ @ ford Halad drF 8 —
(A) TRIR (B) H
(C) Y& (D) 0T Tl
125. ......... helps to increase the general knowledge of the teacher -
(A) Students (B) Fellow teacher
(C) Newpaper-Magazines (D) Family members
MU bl HMHATI—SIT del- 1§[ Heldh % -
(A) BH (B) il 3AT9dH
(C) I=—9fF®mI (D) URIR W+
126. Main objective of education is -
(A) Development of language skills (B) Development of Social Citizenship
(C) Give punishment (D) Personality development
R &7 Th T ST ® —
(A) ST BT BT Abr (B) mIfoTd ARTRGAT &1 fadmra
(C) TUs =T (D) wfda faawr
127. Successful leadership is -
(A) Democratic (B) Monarchic
(C) Group based (D) Dictatorship
A%l e BIAT 8 —
(A) ISIdid (B) ToIdifd
(C) Hqg meTRd (D) drTRIRl

128. Teachers in the teaching profession do tuition because -

(A) Students force them to do this.

(B) Their greed for wealth has increased.

(C) Their Salary is low.

(D) With growth in their knowledge they want to disseminate it.

JEATI AT H RIeTd < Hd 7, Fifdh —

(A) B S= VAl B & ol 919 o © |

(B) &I gH—AlqUal 9¢ T8 T |

(C) SdT Ia9 F 2 |

(D) @I & 9 ¥ ANgfg 8 A 9 U9 A BT TR AT 184 ¢ |
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129.

130.

131.

132.

133.

134.

The education given to the students by the teacher should be :-

(A) Professional education (B) Scientific education
(C) Related with Culture and spiritual (D) All above

e gRT BEl & <1 9 arell Ren =1 9 Sefea g @y —
(A) Rrer zgaafie 8 (B) dsif=® &1

(C) &Pl Ud ATATH W Haferd & (D) Sudad &+

Depends on the teacher’s awareness -

(A) Teacher’s knowledge (B) Teacher’s financial Status
(C) Teacher’s popularity (D) Teacher’s Resourcefulness
JNATIH DI SAFTHHAT TR TR FHRaT & —

(A) IS BT S (B) 3eaTad &t e Rerfar
(C) IR BI =IfT (D) 3EATIH B FAAYUid

If there is a political debate, then you -

(A) will actively participate (B) will enjoy

(C) will be one sided (D) will not pay attention
i HEl STIad 989 81 81 &, ol T —

(A) b wRT o (B) 3IHg o

(C) &< s ueT &7 3R B8 (D) &9 w81 <

All round development of students can be done -

(A) By providing education facilities

(B) Through realisation of Social Responsibility

(C) By considering the interest of students themselves

(D) By giving them money

BT BT FaRT AT far o1 \ahdr 8 —

(A) TRrefor gfaem qax (B) WIS I &1 dle HRId
(C) B Wi & R &1 &9 <R (D) SHAB! 949 TR

The leader of the group can only give successful leadership when he will :-

(A) Be patient (B) Be disciplined
(C) Be serious (D) Berich
HHE D1 =T T el Fgcd § Wbl ©, STd 98 —

(A) eI =/l (B) I TAIH &
(C) THR &I (D) =1 &'
Complex and difficult subject matter should be taught -

(A) According to students (B) In Sections
(C) Afterwards (D) In between
Sifee T Sfod favaawg &1 Riefor exmr =y —

(A) BHEI & IATAR (B) vl H

(C) d1g # (D) dra—d= #
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135.

136.

137.

138.

139.

140.

141.

The best way of studying evils in the nearby society is by-

(A) Contact with students (B) Contact with parents

(C) Social survey (D) Book study

e AT H AT qRISAT BT AT B BT FAIdH AT § —

(A) BEI A HUD (B) SIfIMTadhl W Fud

(C) mIfoTh Fdefor (D) YKI® eI

Effective decision making depends on -

(A) Leaders (B) Members

(C) Both Leaders & Members (D) Interactions between the two
gt foia—famior feflR et ® —

(A) a7 W (B) eIl WX

(C) T Ud 9, T IR (D) THl & " ofa: fhar )

I often get angry when people -

(A) Do not agree with me (B) Talk about their own interest
(C) Blame some innocent (D) Quarrel with each other

qel JARIR I IATAT ©, ST AT —

(A) ¥ 9 TE A 2 | (B) 31U+ w@ref &I 91 B © |
(C) f&dl PRy &7 39 < © | (D) YA H TSI B ¢ |
How to improve Education?

(A) By administrative reform (B) By changing the method of examination

(C) By spending more money on education (D) By recruiting best teachers
1 % guR fo| yeR w9a 77

(A) YIRS GER §RT (B) R ugfo ® gRddd o
(C) R W 1f® o9 I D (D) =I5 Rietspi o1 Fgfad aa
If the students do not understand the text the teacher should -

(A) Explain again (B) Start next lesson

(C) Talk to Principal (D) Ask questions

BTAl DI YIS AAS H 78] M WR AAUS Bl ATy b —

(A) IR FHSRAT (B) STl IS 3O &x <Al
(C) Y=m | 971 BN (D) U guil

What should teachers do to get rid of theft habit in students -

(A) Explain ill effects (B) Explain with example

(C) Give punishment (D) Scold

BTAl § NI DI 3G G & (ol IS Bl AT BIAT AT(0A?

(A) TR qar =2 (B) STTERV Th) FHIAMT ATy
(C) oIl AT =Ifey (D) dTSAT TR

Selection of subject requires -

(A) Scholarship (B) Educational guidance

(C) Professional guidance (D) Choice of students

vl & o9 @ ford emavys & —

(A) fagar & (B) 3ferd fde™ a1

(C) g e @ (D) BT B STOT DI
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142.

The teacher gets good information about the events of Country and abroad -

(A) From history books (B) From Newspapers
(C) From radio news (D) From world tour
NP BT <9 — A B TRl I N TEHRT U Bl & —
(A) 3B & gl A (B) IHEIR—U31 A

(C) eIl IR | (D) favg yqor 9

143. While teaching in the class, the teachers should —

144.

145.

146.

(A) Seek active cooperation of the students.  (B) Keep the students as passive listeners.
(C) Do not pay any attention to the students. (D) Remove the difficulties of the students.
FelT H Ugrd I, Rierdi &l Ay —

(A) B & IfhT TSI BT WINT B | (B) B & FHSpa siarel @ w9 § W |

(C) BT TR IS &9 7 ¢ | (D) BHEI & HSARAT BN T B |

To motivate students in the class, the teachers should —

(A) always praise their students.

(B) always criticize their students.

(C) judiciously use praise and criticism.
(D) give such comments which neither indicate praise nor criticism.

FeAT | BHEl B IR 1 @ oy, Rieta! &1 =iy —

(A) THIT U B BT ARTEAT BN |

(B) THIT U BT &I 3MTATEHAT B |

(C) fade & U9 3R AT BT SYART BN |

(D) U1 fewfort < ST 9 81 AR1EAT iR A B 3 SR B |
During teaching in the class if a student asks question, the teachers should —
(A) give correct answer immediately to him.

(B) ask the student to come after period for the answer.

(C) scold him and tell him not to disturb the teaching.

(D) not pay any attention and continue his teaching .

FHeTT H UgH & QR Udh BIE U UBdT &, ReTd & Ay —
(A) ¥ ThIdl Ael STad < |

(B) B P SR & oIy BT & 1< MM & oIy &g |

(C) ¥ Sic 3R S Pe fefor # aer I~ 7 & |

(D) ®Ig &9 9 < 3R 310+ feTor oI IRY [ |

The basic responsibility of teacher in the class is —

(A) to promote learning in the class.

(B) to extract school’s fee from the students.

(C) to arrange the records of the students of the class.

(D) to give extra importance to the students having tuition.
HeqT # Rretd @ g1 ey § —

(A) e ¥ FERTH BT 9T |

(B) ®BMEIl ¥ fdemerd Yob ol |

(C) P& & Bl & RPre Bl JaRT HRAT |

(D) TIYIE dTel BIHI Bl AfREH Az AT |
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147.

148.

149.

150.

A class teacher is expected to behave with his students —

(A) more loving with intelligent students.

(B) reluctance towards poor students.

(C) equal behaviour with all the students.

(D) behaviour according to the expectations of the students.

THh BT eTd BT MU+ BIET & A1 FIER B DI SHIG & —
(A) g BET & A1 ARS R |

(B) TXI9 BT & UfT ST |

(C) I BT & AT HHH IIER |

(D) BMEI & IMET & AR FIeR |

The teacher is considered to be the guide, because —

(A) he has unfathomable capacities to build the future society.
(B) he is a symbol of social belief.

(C) heis a guard to the society.

(D) he is indulged in giving shapes to frustrations.

R1ere 31 A1l gefd AMT SIar ©, Rl —

(A) S8 9o & gars & fHior & srerme er|dn 2
(B) 98 AMING fIgary &1 i & |

(C) a8 |9 & folv U garer 2 |

(D) 98 HIRA B MHR o+ H fora 2|

Teaching should be mainly done by —

(A) Skilled and trained teachers (B) Untrained persons

(C) Experienced teachers (D) Young talented persons
fR1eoT qe&1 /Y A ... gRT fBar ST =2y |

(A) HI 3R grriera fRrerepl (B) omuf3ifera wufaaat

(C) orgwdT fRretani (D) Jar ufcrrerell faaa
To inculcate human virtues among students as a teacher —

(A) you will not do anything wrong so as not to send wrong message to the children.
(B) you will reflect all those virtues, which you wish to imbibe.

(C) you will continuously tell them and make them understand.

(D) you will bring change in the children to suit the present context.

v frs B WU § A AEaT B ReRiT B B Ry —

(A) 3T BB I TAd T8l BT qMMh Ted DI ToAd A9l AT S |

(B) U 39 |l U DI Ul &3, f= o0 ersTa RameT amEd @ |

(C) MU 3T AR TG AR I FHSIU |

(D) 3 IGHH HaH & AwY gedl H gaard e |
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Part-D
Language Proficiency-English

Directions: (Q.151) Change the Direct narration to Indirect narration-

151. She said to me, “What are you doing?”

(A) She asked me what was I doing (B) She asked me what am I doing
(C) She asked me what I was doing (D) She asked me what were you doing
Directions: (Q.152) Choose the correctly spelt word-

152. (A) Dicease (B) Disease (C) Desease (D) Diseese

Directions: Find one word for the group of words given below-
153. A person with long experience of any occupation-
(A) Veteran (B) Wizard (C) Genius (D) Expert

Directions: Choose the correct Synonym of ‘Eradicate’

154. (A) Emerge (B) Uplift (C) Remove (D) Increase
Directions: Give the correct Antonym of ‘Compassion’-

155. (A) Anxiety (B) Hatred (C) Connection (D) Conducive

Direction : (Q.156) Choose the option that is correct-
156. The teacher was too angry that she left the classroom-

(A) The teacher was very angry that she leave the classroom.

(B) The teacher was so angry that she left the classroom.

(C) The teacher was too angry and she had left the classroom.

(D) The teacher was too angry but she leave the classroom.

Direction : (Q.157) Choose the option with the word that is closest in meaning-
157. Abandon-

(A) Try (B) Join (C) Forsake (D) Adopt

Direction : (Q.158) Choose the option with word opposite in meaning-
158. Entangle-

(A) Twist (B) Untwist (C) Hook (D) Impede
Direction : (Q.159) Choose the correctly spelt word-
159. (A) Abbreviate (B) Abreviate (C) Abrreviate (D) Abriviat

160. Person who loves books and reading -
(A) Philologist (B) Bibliophile (C) Misogynist (D) Misologist
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161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

Directions : (Q.161-164) Read the given passage and answer the questions that follow-

At this stage of civilisation, when many nations are brought in to close and vital contact for
good and evil, it is essential, as never before, that their gross ignorance of one another
should be diminished, that they should begin to understand a little of one another’s historical
experience and resulting mentality. It is the fault of the English to expect the people of other
countries to react as they do, to political and international situations. Our genuine goodwill
and good intentions are often brought to nothing, because we expect other people to like us.
This would be corrected if we know history, not necessarily in detail but in broad outlines, of
the social and political conditions which have given to each nation its present character.

Mentality of a nation, according to the author, is a product of ................

(A) Present character (B) Politics (C) History (D) Geography
The character of a nation is the result of its-

(A) Ignorance (B) Cultural heritage

(C) Socio political conditions (D) Mentality

The need for a greater understanding between nations-

(A) 1s more today than ever before (B) was more there in the past

(C) 1isno longer there (D) has never been there

‘Genuine’ in the passage means -

(A) Historical (B) Political (C) Real (D) Fake

Directions : (Q.165 - 167) Choose the correct alternative -
............... car must be insured.
(A) A (B) An (C) The (D) Al

Everyone expected the same team ...............

(A) towin (B) was winning (C) won (D) will win
It took longer ................ooenn. I expected.

(A) though (B) but (C) than (D) then

Directions: (Q. 168 —169) Change the following sentences as directed in the brackets-
Only a coward would say so. (Transform into Negative)-

(A) Noteven a coward would say so (B) None but a coward would say so

(C) A coward would only not say so (D) No coward would say so

Mohini is more beautiful than Mitali. (Use positive degree)-

(A) Mohini is not so beautiful as Mitali. (B) Mohini is rather beautiful than Mitali.
(C) Mitali is not as beautiful as Mohini. (D) Mitali is as beautiful as Mohini.
Directions: (Q.170) Choose the correct Tense-

| the stadium long before the match.
(A) reach (B) was reaching
(C) had reached (D) had been reaching
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AT
AT AT : fa=d)

171. 741 ¥ agfg fausianed w9 o—
(A) ue—ufcuer (B) MRae—ATRT® (C) T —Rb (D) SAHY—3MHRRI
172. 49d, XA 4oy, 3, |, ge1 fvsy srapmeil & aref &—

(A) RIR (B) =T (C) RPN (D) R
173. g Y qeF s T8l o

(A) S ST 9 S 9 5T (B) STHIeT H I dTell : T

(C) e foram gar @ &< (D) it RRT garm &1 : ufad
174. ‘fGH B9 BT T4’ 3fidlerd GeTaRl o—

(A) 3rFA BT A (B) 3fdT TR TR TsHT

(C) A B ©IS SIS (D) 3fFd BT Yool

175. “®ag FRIFN 811 1 &R | Jrepifaa &1 a1ef o—
(A) T=I @1 fFar g |9 81 9 21 (B) g 31UHl gRedl T8l Bledl |

(©) T & AR R JIER HAT | (D) BT AR T A T YN A 2 |
176. IO G BT g9 drel fddhea g—
(A) ¥dqg (B) YSMH (C) Jgarsm (D) ¥Rl

177. fo=feilRaa & @ o19ar G e a8 78 32—
(A) A + TP (B) YW+ 3T (C) fa+ D) ™+ =3
178. ‘HISE=’ g BT Tel A fAU8 &—

(A) BT & forv &= (B) ST &7 &5

(C) prsT 3R & (D) WIST AR &F BT T g
179. HHIRT FIT BT T2 Tl [Ahed B—

(A) “ABHA (B) = (C) AT (D) HISTGTE!
180. ‘<=1, B9 IR J9TT’ Bl I dTell SUHAT 2—

(A) SU (B) 3@ (C) ufa (D) arfy
181. TSl 99T & S & 997 g B—

(A) TR (B) ¥RUc (C) 3ferdean (D) TR
182. ¥Iqarad dfgd U W d9 G Bl I dTell fddhed 8—

(A) UFER (B) -a (C) orfer (D) <HSERI
183. 1" BT TAW ITeAT Teg A2l T—

(A) drad (B) =7 (C) &3] (D) STcde
184. DIFAT Te& AIE ‘HHET BT YATIATT 5—

(A) 3™, IaP, AfeTd (B) fafdrg, gy, amer]

(C) 3raf+, efroft, Afe=n (D) Hferd, IFR9, dad
185. fAuTe vrsg &1 fAUIATRI® g B—

(A) T3 (B) axgH (C) SEaTs (D) ¥gfa
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186.

187.

188.

189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

9T fddbey M el &I F8] 9Idr &—

(A) IFE—fagE (B) IRF—afemr  (C) Ham—garT (D)  IET—faRmT
FR—AR' wes T BT a1ef BT 5—

(A) WRIPTC—THST (B) 98d HAY Th— I

(C) AHG—HEDT (D) Ig— Brel

TRl T, YT g8l 8, 98 <% SN © | a1 5—

(A) WERY 9 (B) Wgdd gt (C) A gt (D) FYearad ard

= & | f5a Aden & 9t o g &
(A) YTT:HTd, eI (B) i, Ity
(C) fagll, sirecht (D) dTcHIfd, SHIS
IR B—
(A) T W PraT dreT I&T 2 | (B) ST U&% fgAM a1ferat 2 |
(C) B W BIer X9 ar | (D) AT IMddHaral ART 13T |
bl g% BT U BT IHT AT DI S dTAT JETART B—
(A) 3@l § TgT (B) i TR 8T
(C) 3iRAl 4 T IaAAT (D) IR Far
éd)lﬂ-d)lﬁ‘:l?sldcd T, TR BT TR e “| fra e SH1E BT W HRAl
;
(A) efq (B) «mST (C) drelt (D) fofa

= o agrg sneRae wve -

A) F+9=8 @B T+3I=F (C) T+I=% (D) YL+I=4
JAA—AGId BT 3| I o

(A) -39 (B) SF=AI-3FSIT (C) Tef-gefrgdl (D)  <fé—gy

"I SIS DI | AH H Bl WG o

(A) AR addTd (B) A Jddrd (C) 37q0T Yadlad (D) \MRI adA e Hlet
o1 & wigaras AT T8 8-

(A) FIUA (B) TIRH (C) d3® (D) UHal

g a1 vl & arfs ST YRR uRiem | =49 8l Sy | X@ifdhd ug o
(A) W& dEd Ty (B) Se¥Y qEd ATBRYT T dEd
(C) HHMIEHROT = qredh (D) foura

TH S A T | AR H T YA o

(A) UDIa (B) 9gddad

C) TUdhded & WM W qgda (D) 9gged & WM R UhHaaHd
SEEd gy o AT oeg T8 8-

(A) <iRgat (B) USRI+ (C) &8 (D) wI<H

=1 ¥ srglg vaRrare wE -

(A) f9r, 350, arfaen (B) oM, Uiy, g

(C) ey, feAry, e (D) RS, gk, Siefa
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171

172.

173.

174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

H—<

AN AT - AEHd

. ‘TP TINAT Ua GpAggAn: INT—

(A) SR+ 3R (B) R+ 317

Y IRy YE—ara JTR—
(A) B HRISFSTIT
(C) BT PRSI

qrad:’ sfd Uew Afxafde: fRa—

(€) SR +74

(B) BTHA hIRNSISIIRIT

(D)

(D) HMR HIEISHSIRI

(A) UT + I (B) Ul + 3 (C) I + 3M®:
qIfdHdR: &:?

(A) TIforS (B) daoifel (C) HIIIA
JMI=TR WAL BicIder: Ff~d?

(A) ffder (B) =gfder (C) v=fdern
horeleasd aqi—agaa wu wiqsfa—?

(A) HATIM (B) Wel: (C) Bl

Yh R IR ?Q/II"IHQﬂ—

(A) Tt (B) e (C) &=
T gof: 3rfda—

(A) TR (B) TPHR: (C) SPR:
T fhArRRT Al g Re: I wafo—

(A) o1g; (B) Syt (C) fopar
AR SUFT: Bicr?

(A) STTIGT: (B) garfderfe: (C) UdMHTdf:
T’ AN Us YR fauedn: anT—

(A) S+ 3q (B) <+ 7 (©) <+ 3q
‘g faefad sfa R e afRa—

(A) €1g: (B) e (C) 3Ty
IR SRS U Ugaudn: ANT—

(A) g + 73q (B) ©T + vaq (C) & + vIq
BIDHGART TS HITAT TR BIRBH .o RITd—
(A) 9 (B) HWIGHH (C) 3MUTeTH

185. JMUTGHIGARRIAaiedd dRS BT A5 7

(A) STUTGTTH

(B) \®IEHH

(C) @

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

QR+ =

°y 4+ 3TTp:

ESIERE

T + Iq

d + vIq
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186.

187.

188.

189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

ATl & HA:?

(A) HHIRY (B) 3rarfma: (C) Yoy (D)
faggY scga AEfduIs 3 fhq?

(A) ‘a<d fa (B) far (C) eIfires (D)
freTyot faRIeIT 98 I SSERVMRAG—

(A) T (B) HIBW: (C) -arge™ (D)
Taw] gHI' 3 HT T Yaxicl?

(A) far (B) =& (©) TEdH (D)
GR FTAT T TGTIT NI oo BT Ffer:?

(A) TH (B) A (C) fawt: (D)
UG IR GAURANDT BT 3T RITI—

(A) 9gfr (B) WTEdH (C) T (D)
Raisa:’ sl Seevy A-fgwse: &7

(A) Bar + = (B) Raw + = (C) R@: + 3=k (D)

g uran fAfefreeRe STHge Ry gfdde vy Afqsafi—

(A) o (B) G (C) HIH (D)
g 3fa uq aTgaeRea Ra—

(A) ¥l + dIeaddR (B) 4l + FJeadrR (C) 4 + TEadrR(D)
M T FGH! et FuHRG—

(A) I (B) <™y (C) XmvT (D)
Y ergrg aTaRrARa—

(A) STCIHRAT: (B) fugw: e

(C) SUTTT e (D) B TS IS
BRI Afi—

(A) wd (B) §< (C) ¥« (D)

e fagme I STRda—

(A) ST Hedl(B) BallST=RI |WANT(C) GfwTes < ueH (D)
TgAIE AR YT oleTord fRd—

(A) STRUSRIUE: (B) JaUarRme™: (C) IrIYSrRyE™: (D)
T T wafa—

(A) IF—TTY (B) dd—dag (C) Fd—cIYq (D)

/S

gg%%%g@@
. -

0 + fafSforserar

AT
R gy dfedr:

REDUMDEICE
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